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You answered 7 of 7 questions correctly. Continue ‘

What is scrum?
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What are the five scrum events?
2m 13s

Question 1 of 7

What is a sprint?
What are the three scrum artifacts?
2m 3s

It is a way for the Scrum team to prioritize work.
Why is scrum successful?

Z2m 33s
9 It is a timebox the Scrum team uses as a development or working window.

Chapter Quiz Correct
7 questions Each sprint in a project is a timebox event lasting anywhere from one to four weeks, and they typically
last two weeks on average.

It Is how Scrum teams communicate the status of their work.

Question 2 of 7

During which Scrum event will the product owner (PO) and stakeholders provide early
feedback to the development team?

9 Sprint Review
Correct
This is at the end of a sprint, where the team gets early feedback from the PO and stakeholders to
ensure the product meets business needs.

Sprint Planning
Sprint Retrospective

Daily Scrum

Question 3 of 7

How would you describe the increment artifact?

9 It consists of work completed in the sprint plus all work completed in previous sprints.
Correct
It is a Scrum team’s growing body of completed, ready-for-used products.

It is a prioritized list of all the work that could be done for this product.

It Is a list of work items that the team committed to for the sprint.

Question 4 of 7

What is the key responsibility of the product owner (PO) on a Scrum team?

managing the development team
ensuring the team follows the Scrum framework

'9' defining the work to be done
Correct
The PO defines the priority of the work items and ensures that the team works on the highest priority
items first.

Question 5 of 7

How does a team use Scrum artifacts?

e to keep work moving and share what the team works on
Correct

Scrum is a project framework based on transparency and feedback, so Scrum artifacts are available for
everyone to review.

to ensure blockers are identified and removed
to define the work to be done

to plan work for the upcoming sprint

Question 6 of 7

Scrum has been the leading Agile framework for many years. What i1s one of the reasons for its
success?

9 Scrum relies on people with different skills who form a team and create working product increments
together.

Correct
A shared purpose and freguent short deadlines create a sense of urgency, which is essential to
accomplishing anything.

Scrum's hierarchical framework leads to successful teams and products.

Scrum requires training and certification for teams to get started.

Question 7 of 7

How would you describe Scrum?

9 It iIs a commonly used project framework based on Agile.
correct

Scrum is the most commonly used Agile project framework.

It is a type of extreme programming.

It is a form of Disciplined Agile Delivery.




